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109 = 1009 =

806.2 x 1072 = 5% 10 =

358.2 x 1002 = 155.1 x 1003 =
8x 10 = 1002 =

1009 = 100D =

291.7 x 1072 = 1002 =

100D = —3x%x10% =
637.4+ 1077 = 5% 100D =
1002 = 8 x 100D =
734.5 x 1072 = 8264+ 1003 =
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107 = 0.001

806.2 x 1072 = 8.062
3582 x 1072 = 3.582
8 x 10 = 80

1072 = 0.001

291.7 x 107 = 0.2917
1077 = 0.1

637.4 + 107 = 637400
1072 = 0.01

734.5 x 1002 = 7.345
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10 = 0.0001

5% 10 = 50

155.1 x 10 = 0.1551
107% = 0.01

1079 = 0.1

1072 = 0.01

—3 x 10* = —300
5x100Y =05
8x107Y =08

826.4 + 107> = 826400
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